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(1)Please determine the parameter a and b for the zero steady-state error,
from the feedback system in figure 1.

where R(s) = /s, G(s) = 1/(s + a), and H(s) = 1/(s + D),
a and b are constants.
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(2) For the system shown in figure 2, find out (i)percentage of maximum
overshoot %05, (ii)settling time ¢, and (ii)peak time ¢, of the
unit-step response. (20 %)

33 N/m

- ] l(’)
ﬂfomz)\ 7
! 3kg e i)
i b
15 N-s/m
Figure 2

(3) Please design the parameter a and b for the settling time f, < 6 sec and
the %0S < 6%, from the feedback system in figure 1. where

R(s) = I/s, G(s) = b/(s(s + a)), and FI(s) = [, a and b are constants.
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(4) (i) Plot the root locus of the system in Fig. 1 with
G(s) = k/((s+3)(s*+4s+25)), and H(s) = 1.
(i1) Determine the value of parameter & for a stable control system.
(20%)

(5)(1) Sketch the polar plot of the frequency response for the control
system with transfer function of F(s)=1/(s+1).
(i1) Sketch the bode plot of the frequency response for the control
system with transfer function of ['(s)=100/(s(s+20)).
(20%)




